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(12h%] BAEERAY V=977 (1EM7 Y —/SRFK—F) HE E # 5A5H 77 9.6 67.4
(EER5) SWEhY V=257 (BT L—% - R7) A A # 7H11H 74 4.8 69.2
(5831i] BLEHY YV —257 (@BFTL—% - }7) KE OEM 5A3H 91 21.6 69.4
(5844i1) KEHYFV—-957 (BT L—% - R7) R % # | 7R18RH 84 14.4 69.6
[5851i1) AKEYY = FeAXFTL (RTPEES 2R #E ¥ 7TH27H 78 8.4 69.6
(5861i] BAEBAY V-2 357 (BT L—% - R7) FE HA=X # | 7A12R 78 8.4 69.6
(74ix) BLEHY YV —257 (FBFTL—% - X7) M R—BA HR 6A7H 78 8.4 69.6
[5581i]) KEAYMYV=2357 (FBFL—% - <X7) = ik ¥ 7TH19H 76 6.0 70.0
(5891i] BAEBAY FV—2357 (FRTL—% - R7) Ak XEF & 7A1H 75 4.8 70.2
[58101iz]) 7 /Ea—RZvEnRyy (A) R 8% =3 6A24H 81 10.8 70.2
[58151i1]) BAERAY V=257 FYYI% (4R i IERE =3 7TH27H 86 15.6 70.4
[55201iz) BiAEEAY Y —-5F57 FL—EI51% 3,000 A B =3 7H18H 72 1.2 70.8
[58251iz]) BREEAY FYV—257 FUrs% (410 f2:2 NI =3 6A1H 83 12.0 71.0
[58301i] BiAEEAY Y —-5F57 FL—EI51% 3,000 Aa %— =3 7H20H 82 10.8 71.2
[5£350i] BAEEAY YV —-257 FYroH (4 RE A2 # | 6A13R 81 9.6 71.4
[58401iz) BiAEEAY Y —-5F57 FL—EI51% 3,000 EH % =3 6A21H 80 8.4 71.6
[58451i1]) BAERAY V=257 FYYo% (4K HH RE =3 5A14H 85 13.2 71.8
[55501i] BAERAY V=557 (FFETY—RFE—}) B4 &# # | 5A258 85 13.2 71.8
[58551iz]) BEEEAYFYV—257 FUrs% (4K EH F # | 7R27H 72 0.0 72.0
[52601iz) BAERAhY FV—-257 FL—E5|% 3,000 EHiE BB B 7H11H 83 10.8 72.2
[58651iz) BEEEAYFYV—257 FUrs% (4K ma FE & 5A9H 89 16.8 72.2
[58701iz) BAERAhY V=257 FL—E5|% 3,000 Bl HERY B 7TH19H 83 10.8 72.2
[58751iz) BEEEAY FYV—257 FUYI% (4K ik N # | 7AR18H 82 9.6 72.4
[55801i) BAERAY FV—-257 FL—E5|% 3,000 AE Fih B 5A4H 82 9.6 72.4
[55851iz] BAERAY V=257 FYYo% 4K ik TR B 5823H 93 20.4 72.6
[55901iz) BAEEAY PV —-257 FL—E51% 3,0000 \H RE & 7A9H 81 8.4 72.6
[55951iz) BABEBAY V=257 FYYo% (4K RE Af & 7A4H 80 7.2 72.8
[5510014z) BEEEAY V=957 (157A7Y—"RFKE—}) EH# #H— B 7TH24H 80 7.2 72.8
[551501i) BAERAhY V=257 FL—E5|% 3,000 ik TR B 5827H 87 13.2 73.8
[552001z) BEEEAY V=957 (157A7Y—"RFKE—}) ik TR B 6A21H 95 20.4 74.6
[552501iz] BAEEAY PV —-257 FL—E51% 3,0000 HH —Xk & 7A6H 84 8.4 75.6
[553001z] BEEEAY V=257 (157B7Y—"RKE—F}) #F MF= B 7H13H 102 25.2 76.8
[553501iz] BAEEAY PV —-257 FL—E51% 3,0000 XEF Ex & 5A3H 109 30.0 79.0

[BB] BAEEAY MYV —957 (FR7L—%- 14) XiE &t B 5824H 141 52.8 88.2
[BME] BAEEAY MYV —257 (FR7L—%- 14) FH X B 6A23H 139 49.2 89.8
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